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Sequences and Series (Part 2)
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An arithmetic series has first term « and common difference d.

The sum of the first 29 terms is 1102.
(a) Show that a + 14d = 38.
(b) The sum of the second term and the seventh term is 13.

Find the value of ¢ and the value of d.

(3 marks)

(4 marks)
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The arithmetic series

S1+58+65+72+4 ...+ 1444

has 200 terms.

(a) Write down the common difference of the series.
(b) Find the 101st term of the series.

(c) Find the sum of the last 100 terms of the series.

(1 mark)
(2 marks)

(2 marks)
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The 25th term of an arithmetic series is 38.
The sum of the first 40 terms of the series is 1250.

(a) Show that the common difference of this series is 1.5. (6 marks)
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An arithmetic series has first term « and common difference d.
The sum of the first 31 terms of the series is 310.
(a) Show that a+ 15d = 10. (3 marks)

(b) Given also that the 21st term is twice the 16th term, find the value of d. (3 marks)
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An arithmetic series has fifth term 46 and twentieth term 181.
(a) (i) Show that the common difference is 9. (3 marks)
(ii) Find the first term. (1 mark)

(b) Find the sum of the first 20 terms of the series. (2 marks)
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The nth term of an arithmetic sequence is u,, where
u, =90 —3n
(a) Find the value of u; and the value of u,. (2 marks)

(b) Write down the common difference of the arithmetic sequence. (1 mark)
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The first term of an arithmetic series is 1. The common difference of the series is 6.
(a) Find the tenth term of the series. (2 marks)
(b) The sum of the first n terms of the series is 7400.

(i) Show that 322 — 21 — 7400 = 0. (3 marks)

(ii) Find the value of n. (2 marks)




